
AWARDS:

SUZUKI (GSX-150)
FOOTREST



SUZUKI (GSX- 150) FOOTREST

1
11

10

9

7
8

6

3

4

13

2

12

5

20

24

22
27

24
25

29

25

23

Bracket_1

GSX-150 FOOTREST - RIGHT

Bush_1

Bracket_3

Brake Pedal

Footpeg

End Nylon Slider

Extension Adaptor

Rubber Pedal

Shaft Pedal

Brake Lever

Protector_1

1 Bush_212

Washer132

3

4

5

6

7

8

9

10

11

7

17

8

6

19

14

16

4

18

15

5

20

21

22

30

24

27

26

28

GSX-150 FOOTREST - LEFT

M8 x 40= 1 pcs

M8 x 30= 4 pcs

M10 x 35= 2 pcs

M8 x 10= 2 pcs

M6 x 12= 2 pcs

M6 x 30 = 1 pcs

M6 x 20 = 2 pcs

Flat Point M4x6 = 1 pcs

M8 x 25 = 1 pcs

Nuts M6 = 1 pcs

M8 x 20 = 5 pcs

Bracket_4

Protector_2

Shift Pedal

Bracket_2

Bush_3

Shift Shaft Component

14

2615

2716

2817

2918

3019

20

21

22

23

24

25




